
N = 205

205 circles in a 1x0.20000 rectangle

radius =   0.016283013314
ratio  =  12.282738835965

density  = 0.853774725350
contacts = 425
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N = 206

206 circles in a 1x0.20000 rectangle

radius =   0.016273117665
ratio  =  12.290207944159

density  = 0.856897008629
contacts = 511
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N = 207

207 circles in a 1x0.20000 rectangle

radius =   0.016263528253
ratio  =  12.297454579542

density  = 0.860042196072
contacts = 551
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N = 208

208 circles in a 1x0.20000 rectangle

radius =   0.016214100186
ratio  =  12.334942901939

density  = 0.858952041709
contacts = 541

 E.SPECHT
07-AUG-2010

N = 209

209 circles in a 1x0.20000 rectangle

radius =   0.016203997541
ratio  =  12.342633321773

density  = 0.862006420048
contacts = 549
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N = 210

210 circles in a 1x0.20000 rectangle

radius =   0.016197533588
ratio  =  12.347558898854

density  = 0.865439972256
contacts = 562
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N = 211

211 circles in a 1x0.20000 rectangle

radius =   0.016161527618
ratio  =  12.375067798636

density  = 0.865699466224
contacts = 386
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N = 212

212 circles in a 1x0.20000 rectangle

radius =   0.016145071185
ratio  =  12.387681522695

density  = 0.868031861318
contacts = 451
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N = 213

213 circles in a 1x0.20000 rectangle

radius =   0.016134147012
ratio  =  12.396069023827

density  = 0.870946543986
contacts = 371
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N = 214

214 circles in a 1x0.20000 rectangle

radius =   0.016129033241
ratio  =  12.399999244347

density  = 0.874480892050
contacts = 84
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08-AUG-2010

N = 215

215 circles in a 1x0.20000 rectangle

radius =   0.015952300607
ratio  =  12.537376578644

density  = 0.859419071206
contacts = 477
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N = 216

216 circles in a 1x0.20000 rectangle

radius =   0.015913440570
ratio  =  12.567992390912

density  = 0.859214903200
contacts = 515

 E.SPECHT
08-AUG-2010


